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Each input has exactly one output.
So, the relation is a function.

linear; As x increases by 2,
ydecreases by 8.

2. The input —1 has two outputs, 1 and
5. So, the relation is not a function.
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9. a.

The price of Stock A increases at a constant 10.

rate, then stays the same, then decreases at a
constant rate, then stays the same again.

The price of Stock B decreases at a constant
rate, then stays the same, then increases at a
constant rate, then stays the same again.

At the end of the day, the price of Stock A is
more than it was at the beginning of the day.
The price of Stock B is about the same at the
beginning and end of the day.

Both graphs are nonlinear. The graph for each
stock consists of four linear sections.

At the beginning of the day, the price of
Stock A increased, and the price of Stock B
decreased.
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infinitely many solutions
x = 90; 90°, 87°, 98°, 85°

y=0.625x + 1.25

18x=12x + 3; % hour

8 hours

10.

12.

14.

16.

18.
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x = 43; 43°, 86°, 51°

y=03x—7
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Sample answer: Write
and solve the equation
x — 13 = 72; x = 85 points

950°C
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1. n=8

3. z=99

Miles

slope = 5; 5 miles per hour
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yes; The equation can be written as y
= kx.

a. Your line is steeper; You earn
more per hour than your friend.

b. You earn $15 per hour
and your friend earns
$10 per hour.

c $5

8. no; The equation cannot be written
asy= kx.

10. IO§ hours or

10 hours 40 minutes

12. direct variation; y = 7.95x
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. slope: 6; y-intercept: =5

. slope: —5; y-intercept: —16
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slope: 20; y-intercept: 15

slope: 3; y-intercept: 9.4

slope: b -interce; t'z
pe: 3y pt:5

The red and green lines are parallel.
They both have a

slope of % The black and blue

lines are perpendicular. The product
of their slopes is —1.
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You learn 15 new vocabulary
words

per week.

b. 75 new vocabulary words

¢. 30 more words

12. y= —%x

14. y=-2x+3

16. y=—4x-3
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infinitely many solutions;
The equations represent the same
line.

x=-12

no; The system has infinitely many
solutions, so it is not possible to
determine the

unit prices.

$16.10

10.

12,

14.

16.

0, -3)

(6,6)

one solution; The lines have different
slopes.

no solution; The lines have the same
slope and different y-intercepts.

x=1

x+y=12;
3x+2y=32;
(8, 4); 8 lilies, 4 tulips




